I3Y-J

A{TMIRREES (EPD)
Z&#ES . JR-AI-21110E

orother

at your side

TS5 —T %##X£%t / BROTHER INDUSTRIES, LTD.

]

(

IJV-JRIBESANITIS A
—BHDEAT T T IIVIREHENE
FRETRBXEEEH2-2-1
https://ecoleaf-label.jp

A9 zyNMESH
Compact Color Inkjet All-in—One

MFC—-J5855DW XL

L ee—

= B

BENSREERE
m %A sl )
[RAAR S, TR, (EF. RS
[FHE, £E. fE, EH. EEERE
AR : MFC-J5855DW XL
-ESRARTFIZIY (h5-1A)
-AARE=E : 16.2kg. At : 3.1kg
-BRAAIKPAX (&K215.9%x297mm)
-Super G344/
- BEhmEENRIAE
AR/ HEERLAN
XARG(EACRALARIFTY
Euwabhtsk
I -T#MGAEE SURZENN IDEEES
TEL: 052-824-2511 (%) FAX: 052-821-5177

https://www.brother.co.ip/

INKvestpeny

ERES JR-AI-21110E
iEFPCRES PA-590000-AI-03
PCR% BERA LIRS (EE34R]
NS 20224 3H4H
WEE&I8E  202242H18H

REEA R S RF LRI
RELES JV-AI-21110E

EEEE%AIE 20278428178
PCRLE1—DsEfE
REBASE 201911H8H
RER iz EZ
(—HEHEEA D RT T T R EHEE )
B=BREIE*
NEMREEE AN 5

ISO14025(CE > EREENRUVT —HF DML U TA&REE
ORIEp m SR

*L AT LRI RITTEBEAANDIRIDBSE. R FT LB ZTD
EEEBORRIZE .

Eix&ES : JR-AI-21110E


https://www.brother.co.jp/

I1Y-J TIU-JEESANIOIShA
oy — A EEAY 2T T RS
S{TMIREEE (EPD) SRS THROREEE2-2-1

HRIRGEER

Zixgss : JR-AI-21110E https://ecoleaf-label.jp

OS54 TYA D)V EFmER

0% 20% 40% 60% 80% 100%
S{RZEE) IPCC 2013 GWP 100a 270 |kg-CO2eq
[izdeale 0.16 |kg-SO2eq
BRHE 0.010 | kg-Sbeq 6
n DR HE nQitE " QB
B @FEA-HEEE s OEE-UH/IL
PR B Bd {5y a5 OFRMBEE Q%= Qi | #ISEE cER- UB1IL
SURZ®) IPCC 2013 GWP 100a | kg-CO,eq | 2.7E+02 | 1.5E+02 | 1.4E+01 | 1.3E+01 | 5.9E+01 | 4.0E+01
EAIHAL kg-SO,eq | 1.6E-01 | 1.0E-01 | 1.8E-03 | 2.6E-02 | 1.2E-02 | 2.2E-02
ERHE kg-Sbeq | 1.0E-02 | 9.4E-03 | 3.9E-05 | 5.7E-05 | 8.5E-04 | 2.4E-05
QT ITVAIIA N> BUDIREE ©r%F NS
IHH I5E Hifyy
IEBETHEER 1.0E+01 kg E 3.0E+00 kg
IEBATRET RILF— 9.7E+01 kg SuUS 8.2E-02 kg
BLEREER 2.4E+01 kg FILEZOA 1.2E-02 kg
BAEAEEIRILF— 2.1E+02 MJ ZTDMERE 5.6E-06 kg
RIKDEE 2.2E-01 m3 TSAFVY 1.1E+01 kg
myN 5.0E-02 kg
HSX 6.6E-01 kg
ETi N 2.0E+00 kg
SEROIFREMR 9.2E-01 kg
Zofth 1.2E+00 kg




IaJ)-7J IJY-JRIRSANI OIS A

oy —HEEAT T T T IVIREHENE
,.f 4711.1 SIHEZ (EPD) TR T RO S8 2-2-1
k&S . JR-AI-21110E https://ecoleaf-label.jp

OHERRICEY DEMHH

ERRBEOEERE (2FUA)
Jro =Y (ESRRAHE) « BEMERRRE : 5F. X215 : £48,0004%
BAERMER/(F—>  ITUT No.1Fv— b, EIRIBMKERIBEAICE TV ARGREIERAmET

©-1.TDMDIREENERH
ARROMETERE EEBHRO S IRUAY REGS(FISO14001BEBRTHICTITONTNET,

DEFERUEZRT—IDERS
IDEA v2.1.3 XUOTOU—JBEBESARILTIO0 S ABREREEA v1.10 ZERA U,

®fR%

0> —FHEEDSEE. PCREKLUVETRE - EEMREZSHRUTIIZE,
OLLE(CDWTIE. BFE - EEMRE(CHEINIERAE/IUILBSCUNRDHENEFE A
(ZHBR5EURL : https://ecoleaf-label.jp/regulation/)
Eixgs . JR-AI-21110E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

